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I 't mwn: value of mya ,nw1a and vIp
a  nwi-based on status of v»an and nw»ann
b D - as if she were a slave-girl being sold; how much her value has diminished
c  0vIp —standard;
i rule: any flat payment is objective (i.e. not standard to fluctuation based on subjects involved)
d  question: why not maintain that the vip covers all
i attempted responses: can't consider that the damages could be equal in all cases, regardless of status
ii  rejected: if so, apply that to all moip (e.g. 30 Ypw for killing an T2y, regardless of his health and/or talents)
iii  responses:
1 »axv.1-npy qwR nnn alone is covered by 50
2 x27v.1-nny a21wn wr alone is covered by 50
e  question: perhaps the other moneys should be given to her
i answerl: v. 2 (>all benefits of her my1 go to her father)
ii  rejection: v. 2 should be used to support that a N71's earnings go to her father, instead of v. 3
1 answer: can't be inferred from v. 2, which is specifically in re: D»171 n7an
2 challenge: why not infer it from vip
3 answer: 01PN 1NN cannot be derived
iii ~Answer: reasonable that it should go to father, since he could marry her off to whomever he chooses
I ’'n mwn: ages of girls who are subject to 721 and get vip (N2 has neither)
a  (n™):19n and vap can never apply to same girl:
i From day 1->mAy1 - only 7on
1 Reason: v. 1 nwRY 'nn 89 — she must be able to marry herself (only at may1)
ii ~ From may) = ma - only vip
b ©mon: from age 3->m W, both apply
i counter to p”r. (OpY W) - NI includes even a Mvp
ii  alternatively: (9's comment was about another discussion)
1 70w R¥IN on a MY is exempt, since it says N1 (with a n"n)
(a) Challenge: v. 5 provides for N5 pv — cannot be a nvp
2 rather: wherever it is written 73, it includes a niop
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II "o mwn: examples of LIPa NTIN>7Va (admission to an act carrying a vIp exempts from payment)

a

C

nnan — pays Do nwia but not vap
i question: why choose nnan, not IR
ii  answer: nwn selected less obvious case; Nnan causes greater a9, perhaps we shouldn't believe him — 5"np
iii ~Dissent: »"aw1 — no payment of mi? nwia upon admission; he doesn't have the right to hurt her reputation
1 Addendum: even if she finds it worthwhile to get the payment and lose the reputation — at least some
members of her family would be negatively impacted and he doesn't have the right to do so
nan — pays 179 (capital) but not Y93 (2x) nor 4/5
i tangential discussion: dispute between Ywin> 17 112 R0 *1/R99 "1 if 1/2 damages of on are vIp or Nnn.
1 Argument for pop: assumption that an ox is not 1w npra, should have to pay entire amount
2 Argument for pip. assumption than an ox is *w npna, should be totally exempt
3  Challenges to position of bip.
(a) Challengel: How does pri share damages (as per xR p"2)?
(i) Answer: refers to loss of value of n%11 from time of damage until collection
(ii) Challenge: already taught as per inference from "pr 'm»wn”
(iii) Answer: taught once for 71, once for on (justification for teaching both — m pays full;
bn wasn't yet attested to)
(b) Challenge2: 1108 nmn not listed as difference between 7ym/on
(i) Answer: list incomplete
(ii) Challenge: what else is omitted
(iii) Answer: 1/2 9913 (not paid by on if it kills a person)
(iv) Block: perhaps it follows 3”11 who requires 1/2 1912
(c) Challenge3: our mwn — should've been mentioned in (c) below as distinction — if it's a on,
doesn't pay mxy 2"y
(i) Answer: mwn refers only to TN
(d) Challenge4: from end of our mwn: rule that if payment is more than damages >0v1p
(i) Implication: if payment is less, not vip
(if) Retort: meaning is "anything other than same as damages is v1p"
(iii) Block: why not state that?
(iv) Answer: since there is MM ¥ pr1 'xn, which, following n”n%n is pnn, didn't want to state it
inaccurately
(e) Final ruling: pra>8nis a vIp
(f) Implications: if an animal does damage in an unusual way, outside of "} (where we cannot
impose fines), the owner is exempt
(i) However: if the plaintiff demands a session of 7”2 in »®, we set it up; if the defendant
doesn't show, he is sanctioned
(if) In any case: he is sanctioned, since (as per jn1 ") it is forbiddent to raise a violent animal as
perv.6
7 'pn (admission that his ox killed a person or an animal) — pays, but
i death of an T2y — doesn't pay (30 Ypw = vap)
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